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Mid chapter 4 Review WS Period Date
Factor completely. PERIP
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Solve for x.
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Write the equation for the following graphs. ( ~ind. . )
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24, f(x)= x*+8x+15
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Graph the following equations.
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26. f(x)=—(x—3)2+6

Write the end behavior and interval of

increase and decrease.
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25. g(x) = x* +1

x-intercept(s): None
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27, f(x) = %(x +1)(x-3)
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Graph the following equations.
f(x)= —x*+2x+3
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Write the quadratic equation in standard form for the given information. [ da” y,
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Write the quadratic équation;
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36.  Write the equation in standard form for the quadratic equation with the given zeros and a leading
coefficient of % Zeros: x = 2,x = —6

. |
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37.  Write the equation in standard form for the quadratic equation with the given zeros and a leading
coefficient of —2. Zeros: x = —1,x = —8

38.  Write the equation in ihtercepf form for the quadratic equation with the given zeros and a leading
coefficient of —3. Zeros: x = 1,x = 4



